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X 2 B #8B =58 (Brad)
A LVERARIRE 1,100 H
SN FIBAE 1,100 H
G 1,100 H
NA—T—DREEERE 1,100 H
BINGEERE 1,100 H
RE KRB REFS () 2,200 M
RERBREFS FHR) 2,750 H
W -ZEXERES 3,300 H
NEEZERIRERAZHE 3,300 HM
PHE (B -2UFRRER) 3,300 H
FHEEEREEULFIRPEZHE 3,300 H
A5 AT R B AR 2 3,300 H
BEEZWE 4400 H
BEEHRMEZE 4400 H
CEHE (M & i5EHEX) 5,500 H
EREREXE 5,500 H
flf%@[f’ﬁ%%{%ﬁ_fmﬁiﬂﬂﬁE%Eﬁ&ﬁ_%&té 5500 M

EHERERREIMEDORNREDERS !
ABEEBAE (RIR =4 - BMERF) 5,500 H
BRES®REEZME 7,700 M
[EEZEE (REE) 7,700 H
[EEFEZME 7,700 M
SREEEZHE-ERE 7,700 M
HAIEEEFLURTELHE 7,700 H
REREHAZHE 33,000 H
RERRAGEE 55,000 M
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